You have a digital read-out of a time. Read the time to your partner, who must display it on an analogue clock, then switch roles. Read the first digital time to your first partner, the second to a second partner, and the third to a third. 

A:	Hvga iyuwahnilv?
B:	talisgo iyatawostanv udalula nvgi.
[image: Image result for clock twenty to four]

A:	Hawaga?			(right?)



1. 12:50
2. 9:30
3. 6:25


You have a digital read-out of a time. Read the time to your partner, who must display it on an analogue clock, then switch roles. Read the first digital time to your first partner, the second to a second partner, and the third to a third. 

A:	Hvga iyuwahnilv?
B:	talisgo iyatawostanv udalula nvgi.
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A:


1.  3:05
2.  9:15
3.  10:10


You have a digital read-out of a time. Read the time to your partner, who must display it on an analogue clock, then switch roles. Read the first digital time to your first partner, the second to a second partner, and the third to a third. 

A:	Hvga iyuwahnilv?
B:	talisgo iyatawostanv udalula nvgi.
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A:


1.  2:50
2.  8:15
3.  7:40




You have a digital read-out of a time. Read the time to your partner, who must display it on an analogue clock, then switch roles. Read the first digital time to your first partner, the second to a second partner, and the third to a third. 

A:	Hvga iyuwahnilv?
B:	talisgo iyatawostanv udalula nvgi.
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A:


1.  11:25
2.  2:30
3.  6:45


You have a digital read-out of a time. Read the time to your partner, who must display it on an analogue clock, then switch roles. Read the first digital time to your first partner, the second to a second partner, and the third to a third. 

A:	Hvga iyuwahnilv?
B:	talisgo iyatawostanv udalula nvgi.
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A:


1.  11:20
2.  3:35
3.  12:00


You have a digital read-out of a time. Read the time to your partner, who must display it on an analogue clock, then switch roles. Read the first digital time to your first partner, the second to a second partner, and the third to a third. 

A:	Hvga iyuwahnilv?
B:	talisgo iyatawostanv udalula nvgi.
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A:


1.  9:35
2.  8:10
3.  12:20




You have a digital read-out of a time. Read the time to your partner, who must display it on an analogue clock, then switch roles. Read the first digital time to your first partner, the second to a second partner, and the third to a third. 

A:	Hvga iyuwahnilv?
B:	talisgo iyatawostanv udalula nvgi.
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A:


1.  2:45
2.  10:20
3.  


You have a digital read-out of a time. Read the time to your partner, who must display it on an analogue clock, then switch roles. Read the first digital time to your first partner, the second to a second partner, and the third to a third. 

A:	Hvga iyuwahnilv?
B:	talisgo iyatawostanv udalula nvgi.
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A:


1.  4:00
2.  8:35
3.  4:25


You have a digital read-out of a time. Read the time to your partner, who must display it on an analogue clock, then switch roles. Read the first digital time to your first partner, the second to a second partner, and the third to a third. 

A:	Hvga iyuwahnilv?
B:	talisgo iyatawostanv udalula nvgi.
[image: Image result for clock twenty to four]

A:


1.  12:01
2.  1:50
3.  2:58


You have a digital read-out of a time. Read the time to your partner, who must display it on an analogue clock, then switch roles. Read the first digital time to your first partner, the second to a second partner, and the third to a third. 

A:	Hvga iyuwahnilv?
B:	talisgo iyatawostanv udalula nvgi.
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A:


1.  3:00
2.  9:59
3.  6:07


You have a digital read-out of a time. Read the time to your partner, who must display it on an analogue clock, then switch roles. Read the first digital time to your first partner, the second to a second partner, and the third to a third. 

A:	Hvga iyuwahnilv?
B:	talisgo iyatawostanv udalula nvgi.
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A:


1.  5:30
2.  10:15
3.  1:03


You have a digital read-out of a time. Read the time to your partner, who must display it on an analogue clock, then switch roles. Read the first digital time to your first partner, the second to a second partner, and the third to a third. 

A:	Hvga iyuwahnilv?
B:	talisgo iyatawostanv udalula nvgi.
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A:


1.  5:20
2.  4:12
3. [bookmark: _GoBack] 8:53
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